OO <EHMDELA HFFEE> No.l OO

OO FFEMICHREGHEUOER OO

IA(FZoRT) = 1000mAZYTURT) - [ERIDGHE
IN(Za—bk>) = 100g . 1m2 = 100cm X 100cm = 10000cm2 --- [EHIDEE
- RDEIEZ] IRNDEAIZELEEY,
(1) 200mA [ A ] (2) 840mA [ A ]
200.mA — INEEZEEIZ 37 4F8E — 0.200A 840.mA — EIZ 3454 — 0.840A
( 0.2A ) ( 0.84A )
(3 50mA [ A ] (4) 25mA [ A ]
50.mA — ZEIZ 3454 — 0.050A 25.mA — ZEIZ3 454 — 0.025A
( 0.05A ) ( 0.025A )
(5) 120mA [ A ] 6 200g [ N 1]
120.mA — EIZ345%4 — 0.120A 200.g — EIZ245% — 2.00N
( 0.12A ) ( 2N )
(7)) 1300g [ N ] (8 450g [ N 1]
1300.g — ZEIZ24% — 13.00N 450.g — EIZ 2454 — 4.50N
( 13N ) ( 4.5N )
9 9g [ N | (100 10000g [ N ]
95.g — ZIZ24% — 0.95N 10000.g¢ — ZEIZ 244 — 100.00N
( 0.95N ) ( 100N )
(11) 20000cm2z [ m2 ] (12) 4500cm2 [ m2 ]

20000.cm2 — EIZ4454% — 2.0000m2
( 2m? )

(18) 560cm2 [ m2 ]
560.cm2 — ZEIZ 4454 — 0.0560m2

( 0.056m2 )
| mfE%E cm? THLTHAL, ThE m? [ZET, £IE06)D L3I,

(15) 15cm  COEBOEE [ m?2 |
10cm X 15cm=150cm?2
10cm 150.cm2 = 0.0150m?

( 0.015m? )

4500.cm2 — E[Z4 5% — 0.4500m2
( 0.45m?

(14) 300cm2 [ m2 |
300.cm2 — EI[Z445% — 0.0300m?2

( 0.03m?2
lem OREE m [CELTHS, @EEHT ., EBL5MAETE OK!

(16) 8cm CORFEOEE [ m2
6ecm=0.06m
6cm 8cm=0.08m
0.06 X 0.08=0.0048m?
( 0.0048m?2

)

]

)
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